
2.12 

 

α)                    
1 2x xθέτουμε

1

1

1 2 2f x x f x f x f 1 1 f 1 f 1 f 1 2f 1 f 1 0
 

            

β)          
1 2θέτουμε

1
x ,

1 2

x
x

1 2

x
1 1

f x x f x f x f x f x f
x x

 

   
          

   
 

   
 

   
f 1 01 1 1

f 1 f x f f x f 0 f f x
x x x


     

             
     

 

γ)          
2

2

1
x το

x
θέτουμε όπου

1 2 1 2 1 1

2 2

1 1
f x x f x f x f x f x f

x x

   
          

   
 

 

   
2

2

1
β) ερώτημα f f x

x
1

1 2

2

x
f f x f x

x

 
  

   
   

 
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Άρα η f g  είναι περιττή 

 


